
   EQUATIONS X²=A EXERCICES 1B 

 
EXERCICE 1B.1 

 Retrouver la/les solution/s de chaque équation : 

x² = 5 

S = {  } 

x² = 16 

S = {  } 

x²= 0 

S = {  } 

x² = 1 

S = {  } 

x² = -2 

S = {  } 

-x² = -2 

S = {  } 

-x² = 49 

S = {  } 

(-x)² = 3 

S = {  } 

 
EXERCICE 1B.2 

 Résoudre les équations suivantes : 

x² – 2 = 3 

 

x² + 6 = 8 5 – x² = -2 -13 – x² = 11 

5x² = 15 3x² = 12 17 – 7x² = 3 6 + 2x² = 5 

 
EXERCICE 1B.3 

 Résoudre les équations suivantes : 

(x – 3)² = 7 (x + 7)² = 3 (x – 7)² = 3 (x + 3)² = -7 

(2x – 3)² = 1 (2x – 1)² = 3 (4 – 3x)² = 2 
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